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ANNUAL EXAMINATION 2/2018
CLASE : VI
SUBJECT : COMPUTER SCIENCE

3 his MM : 80

Choose the correci answer and write it in the answer
sheet: (10x1=10)

(a)

How many categories of control statements are there
in Small Basic?

Mo 2 (i 3

(i) 4 (iv) ©

Which shorteut key is used to make a duplicate of
the slide?

(i) Cirl+ D {l) Cirls G

[y Ctrl+ M (iv) Ctrl+C

The term soflware was first given by

()  John W. Tukey (ii)  John Von Neumann
(iii) John Me Carthy  (iv] Sundar Pichal

Which among the following stalements is considered
as bi-directional siatement?

(i} If Else (i) Ifthen Else

(i) Goto (iv] Goto with If Then
Name the founder(s) of [ipkart.

()  Satya Narayan Nadella

(i) Tim Berner's Lee

(i) Sundar Pichai

(iv) Sachin Bansal and Binny Bansal

What is the extension of réchrdcd sound files?

(i) .way (i) .wma

(i) .midi (iv] .mpeg

(1)



When did Internet Services start in India?

(1) 15 Aug. 1985 (i) 15Aug. 1987 _

(i) 15 Aug. 2005 (iv) 15 Ang. 2003
Which among the following function divides the first
number by secand and returns the remainder as

ouipui?
() Remainder (i) Max
(if) Min () Quolient

It converts high level languagde program into machine

language line by line.

(i)  Assembler (i) Interprefer
(iii) Compiler (iv] Syniax

Which of the following symbols is used to wrile a

comment?
i s (i)
(iii) @ v} +

Q2. Answer the lollowing statementis in one word : (10x1=10)

(a)

(b)

(c)
(d)

A sequence of characters that identifies a location
within a program.

A ready-made button lor defining hyperlink on a
slide.

A program written in assembly language.

It enables people fo learn anytime and anywhere
using technology.

Area where we can write program code in Small
Basic.

Checkhox used to continuously play a sound clip.

The language used by programiners o write computer
pro grams.

(2]



(h)  Rules governing the formalion ol staiements in a

programming languuage,

()  Ii is one of the most popular video conferencing

Q3.

Q4.

Q5.

Q8.

applications.
) Itdefines the order. in whicl operalors are executed
i any cxpression.

WAP to check whether the number entered by the user
is even or add (4)
Write short notes on the [ollowing : (6x2=12)

(a] E-Banking

(bl  Internet T.V.

{¢)  Video Conferencing

(d)  Inlernet Free Calls

(e) E-learning

(f)  Utility of Math Library. Give 1 example.

Fill in the blanks ; 3 i(Bx1=5)

(a) - Animation effects can be applied on both
and on a slide.

(h) : was the [first interactive computer game,

(¢} The box is used for checking or applying
any condition in the program.

(d]  Tiisessential to connecta o the computer
while recording your sound.

(e) key combination is used to stop the infinite
loop.

Differentiate between the following

(a)  Interpreter and Compiler (3)
(b) Comment and Constant (2)
(e)  Writeline () and Write () 2)
(d)  Algorithm and Flowchart (2)

(3)



Q7. Explain the {ollowing ; (Bx3=Y]
(a) U Then loop with one example.
(b)  Goto loop with one example.
(c) Two types of variables in Small Basic
@8. Answer the following : (hx3=15)
()  Whal is an Action Button? Why do we use it in a
slide?
(b}  Whal is Internet Radio? How is it different from
traditional radio?
()  What is meant by Animation? How is it helpful in a
presentation?

(d)  WAP to add two numbers
(e) WAP to chack which of the two given numbers is larger

Q9. Answer the following in short : (5x1=5)
(a) Siddhi is a sales representative. She hardly gets
time to visit the bank for transactions. Suggest her
the internet service by using which she can do all
Ler banking activities.

(b) Saanvi has made a presentation ‘My Father, My Hero'
with 10 slides in it. She wants (o import some dala
from Microsolt Word lile, Suggest Lier the option,
using which she can fulfill this task. |

(c)] Name any two websites used for E-learning.

{d) Ronak wants to send a texi based message to Munik
instantly. which internet service should he use for
this?

(e)  Shruti wants to give output of a program in infinite
loop. Which statement will you suggest her to use?



ANNUAL EXAMINATION 2/2018
CLASS : VI
SUBJECT : SOCIAL SCIENCE

Time : 3 hrs : MM : 80

General Instructions ;

(i)
(ii)

(iii)

{iv)

{v}

{vi)
fvii)

(1.

Read all the questions carefilly and number the

answers according to the guestions.

Write all the answers in neat and legible
handwriting.

Attempt all the guestions.

Write complete sentences for gquestion numpers

2 and 3.
Attach the maps properly to the main sheet.
Guestions cairiying 3 markd shiculd he answerad

within 60-80 words.

Questions carrying 5 marks should be answered
within 80-100 words.

Fill in the blanks : (6x1=b)

(1) was the famous Buddhist book

providing an accourit of the Vajji kinddom.

(1) Ashoka's inseriptions are wrilten in
seript.

(i) o was the organisation which led the

struggle against Apartheid in South Africa.

(iv) Panchayal Presidentis also known as

(1)



Q2.

Q3.

(v) The deepesi poinl on earth. Mariana Trench
lies under the ocearn.

(vi) is the highest plateau in the world.

Correct the following incorrect statements : [6x1=6)

(i)  Aihole was the capital of the Pallavas.

(i) Ujjain was the galeway to the north-west in
Mauryan empire,

(i) Mettur Dam is located in Karnataka.

(iv) In United Kingdom, women got the right to vote
in the year 1920.

(vJ Climate is the day lo day change in the
atmosphere.

(vi) The continent of North America is linked to

South America by Strait.

Answer the [ollowing questions in one sentence cach:

(8x1=8)

i) Name any two siles of Janapadas excavated by
archacologists.

(i) How were empires different from kingdoms?

(i) Name the two major centres of power of the
Kushanas.

(i) What do you understand by the ferm
‘Apartheid™?

(v) Who is a Municipal councillor?

(vi) List any two continents that lie entirely in the
Southern Hemisphere.

e

(2)



Q4.

Q6.

Q7.
Qg.

Q11.

QL2

Q13
Q14

Q15.

(vi) Which two major rivers fall into the Arabian
Sea?

{viii) Define glacier.
Why did Rajas of Mahajanapadas build forts? ()

Describe the means adopted by Ashoka to spread

the message of Dhamma. (3)

Briefly discuss the term ‘Bhakli’, List any two main
features of Bhalkti. (1+2=3)

Write a short note on the ruler Harshavardhana. (3)
Explain the various levels ol the Panchayati Raj
System. (3]

Mention the various ways in which the people

participate in the process of governmernl. (3)

Discuss the compaosition of the decision making body

of Municipal Corporation. (3)
How are the humans responsible for disturbing the
balance of nature? (5)
Distinpuish between Weslern and Eastern Ghats.
(3)
Describe the main teachings of Buddhism. (R)

What is a Graun Sabha? How are the Gram Sabha

and Gram Panchavat linked to each other? (1+4=5)

‘Government ensures the smooth functioning of a
country’. List any five funciions of a government.

(3)



Q16. Differentiaie between Evergreen Forests and

Deciduaus forests. _ (5]

Q17. What are plains? Why are plains thickly populated
regions of the world? (1+4=5)

(318 Altempt the following maps :

(a)

On the provided political map of India, name

and mark the fallowing : (4x1=4)

(i)  Capital of Vajji kingdom

(i) Place where Buddha  attained
enlightenment

(iii) Place where Ashoka foughi his last war

(iv) Capital of Harsha's empire

On the provided political map of the world. name

and mark the following : (dx1=4)

(i)
(i)
(i)

(iv)

Most populated countiry of the world
A volcanic mountain in Japan
An ocean named after a country

An old fold mountain separating Asia and
Europe.



ANNUAL EXAMINATION 272018
CLASS : VI
SUBJECT : ENGLISH

Time : 3 hrs MM : 30

General Instructions :

(i)
(ii)
(iii)
(iv)

Q1.

Read the questions carefully.
Number the answers as given in the question paper.
Write in a neat dand clear handwrif.ing.
Write the answers in complete sentences,
SECTION-A (READING)
Read the passage given below and answer the questions that follow : (7)

Kokrehellur, a small village in the Maddur taluk of Karnataka, offers an unusual
sight - some of India’s mosl unusual species of birds can be seen chirping in the
backyards of these village homes. Apart from Painted Storls. Spot Billed Pelicans
and breeds like the Little Cormorant, Black Ibis. Grey Heron, Black-Crowned
Night Heron and the Indian Pond Heron can be seen here. All these birds nest in
the village and live very close to the villagers. They arrive afier the monsoon ends
in Seplember. hatch their eggs and re-migrate in May. Also in May, one can see
many newborn birds learning (o fly and the shrill voices of these young ones fill
the air. The villagers treat these birds as a part of their families and also think of
these hirds as signs of prosperily and good luck, They use birds' droppings for
their crops because they are rich in phosphorus and potassium. The villagers
also make money from tourists who arc cncouraged to visit the ‘man made hird
sanctuary’ in the village. However, there are some disadvantages also. As Lhese
birds nest in the village regularly, the villagers cannot use the land below the
tree for any crop. Therefore, the government of Karnaiaka compensates the
villagers with a certain sum of money for every trec that has the nests of these
birds. The government has also established and provided grants to the Village
Forest Committee (VFC) to protect the birds by looking after the irees on which
they nest. The people of Kokrébellur have set an exceptional example of how
humans and animals can live together happily in a beautiful way.

(a) Describe the unusual sight in Kolaebellur. ' (1)
(b) What are the twe-things that take place in the month of May? (2)
() Why do the villagers think that birds bring them prosperity? (1)

(A-1)



Q2.

(d) Why does the government of Karnataka compensaie the villagers? (1)

(@) What do we learn from the people of Kokrebellur? =)

() Find words from the passage which mean the same as given below : (2x14=1)
()  not typical (i)  setupona firm or permanent basis 7

Read the poem given below and answer the questions that lollow : (8)

Through my window, an alien drops in

His single antenna buzzing, sharp as a pin.
Vibrations humming and lights beaming at me

[ wake up. startled, rubbing eyes to see.

Ie speaks not a word - [ cannot see his mouth
Gestures at his antenna, ‘Come with me, South.’

- Though jittery and trembling, I jump on the sill,

Fear clutching my throat, like a large stuck pill.
Poised on the edge, we take a huge leap.

[nto space I am flying, [ am not asleep.
Twisling and turning, on a meleoric trail,

Suns, moons, and slars, new worlds we hail.
On and on, up and down, over and under.

Past comets and asteroids. we smoothly meander.
At last my eyelids, droop and ache

And I plunge into a soft, velvety lake of sleep.
When the day breaks, and I rise at dawn

My alien friend by then, has flown and gone.
But | am sure, it was he

As on my pillow, [ can see,

Glittery sparks of starry dust

To remember him, [ know [ must.

{a) What woke up ihe poel? (1)
(h) How did the alien communicate with the poet? (1)
(¢} Where did the alien take the poet? (1)
(d] What did the poet do when his eyelids hesan to droop? (1)

(e) Why did the poet belicve the next morning that an alien had come (o meet
him the previots night? (1)

(¢) Find words from the poem which mean the same as given helow : (2x%2=1)

(i)  jump or dive quickly (i) tohang down

(A-2)



SECTION-B (WRITING)

@3. Look at the given picture carefully and write a paragrapli in ahout 100 words.
Also, give it a suitable title, (4)

¥ Q4. You are Janvi. Your father had recently gone for a health checle up. You receiveq
the call when the doctor rang up o give the report. As you have to go out. you
leave a message for him. Draft a message in not more than 50 words. (4)

} oo e
L | You : Yes, itis. May | know who is calling?
‘ Dr. Geeta : | am Dr. Geeta Trehan from Trehan Surgical Centre and Nursing
Home. I would like (o lalk to Mr. Uday.
! : You : Heis not here at this moment.

Dr. Geeta : Could you please tell him that I have gone through all his test
reports? They do not show any serious problem. If no improvement
is seen during that period, we will go lor some more lests, I feel he
should continue the same medicine for another one week. However,
I have fixed an appaintment with the Heart Spectalist for two o'clock
tomorrow at XT Hospital. He must come there by the appointed
time with his reports,

You : Thank ygil. Doctaor. I shall convey your message when he comes,

@5. Wrile an application to the Principal of your school on behalf of the students of
your class to introduce ‘Martial Arts’ classes in your school. (8)

(A-3)



SECTION-C (GRAMMAR]

Q6. Fillin the blanks with adverbs formed from the adjectives given in brackets

(Ax'a=2)
(a) The small child _aceepted (he sweets from & stranger and wertil
with him. (foolish)
L) I _shop for groceries o saturday morning. (rare)
(¢) Thedoctor 4 wole up the patient who was sleeping sournly. (gentle)
(d) Reading ___ helps you to understand the concepis betier. (usual)
Q7. Fillin {he blanks wilh cuitable prepesitions (Axbo=2)
[ saw a woman sitling alableina restaurant. She was holding a mug
her hand and her bag was lying ihe table. There was another
chair kept the womalt-
Q8. Join cach pair of senlences using suitable conjunctions . (2x1=2}

(a) Smita is very sipcere. She lacks experience.
(h)  Global warming must be controlled. All the glaciers will mell.

Q9. Punctu ate the given sentences : (axi==2)
when we hived 1 london our neighbour, ML, Verma helped us a ot

Q10. Write the given sentences in their passive voice : : (2x1=2)
(@) ! called Raju last night.
(h) The leacher will not explain the posm aggin.

Q11 Fill in the blanks with a single word with the =ame meaning os the words 11

brackels: (4xte=2)

(a) Indiansare following the cusiDms formore thana _ (hundred years)

(b) Nobody wanied to lend monsy to Arjun becaust hewas g e sng (a person
who spends 2 1ot

(¢ Theking could win the battle because of 1is atronp- A (soldiers who
fight on horseback)

(d) Thousands of _ visit this temple every year. (people visiting a hely
place)

Q12. Rearrangeé (he words (o malge meaning ful sentences : (2x1=2)

(a) embroidered/for /Shikha/ hegutiful/a/her/ handkerchiel/ mother
(b) not/hed/lifﬁ/a/mses/is,{uf

- (a-4)

—

i




Q13.

e

gl4.

Q15.

Q18.

Fill in the blanks with the correct form o the verbs given in brackets : (6x':=3)

Napoleon (be) a very caring general. He always (feel) anxious
aboul the wellare ol his soldiers. His soldiers also {love) him. This love
: (remain) in their hearls even when they were aboul (o (dig).
No other general could ever [replace] Napoleon.

Choose the correct option from the bracket and complete the sentences : [Bx1=3)

(a) May I give you trouble please? (a few / a little)

(b) These caves are than many other monuments. (elder / older)
(c) Canyou me the name of the author of this book? (tell / say)
({d) Reema's dress was old to be worn Lo the wedding. (too / very)
e} Thereis _ any money left in his account. (hard / hardly]

{f)  The audience ran when the fire alarm was rung,. (fast / fastly)

SECTION-D (LITERATURE)
Read the extracts given below and answer the questions that follow :

(A) ‘Eight vears have passed (3x1=3)
Since [ placed my Cherry seed
in the grass’

(a) Name the poem from which the above lines have been taken. Also.
name the poet, '

(b)  Whao does the word T refer to in the above lines?
(c) What happened to the cherry seed after the poet placed it in the grass?
(B) ‘He is very violent, especially with the boys who come late’. (3x1=3)

(a) Name the chapter from which the above lines have been taken. Also.
name the author

(b) Who does the word ‘he’ refer to in the above lines?

(¢) Is the description given in the ahove lines appropriate?
Answer any THREE out of FOUR questions in 30-40 words each : : (3x2=6)
fa] Swami wanted his teacher to punish him. Why?
(b) Whal were the different clues that proved Gilchrist to be the real culpril?
(€}  Whal advice did the artist give to Sally at the end of the story?

(d) One morning. the narrator observed a sudden change in the face on his
wall. What was the change and why did it take place?

g A (A-D)



Q17.

Ql18.

Q19,

Q20.

Answer any TWO out of THREE questions in 30-40 words each : [2x2=4)

(a)  In the poem The Cookie Thief the woman was greatly surprised when'.ac

boarded the flight. Why?

(b}  The fly in the poem The Spider and the Fly’ is described as a poor foolish

thing. Do you agree? Why /Why not?

(c) Why did the people gather in Bishop’s barn? How did the Bishop treatl
them?

Answer the following question in 70-80 words : (1x4=4)

Paying attention to the flatterers can lead to our downfall. Discuss the statement
with reference to the poem The Spider and the Fly"

OR

God judges us and rewards us for how we treat our fellow men. Discuss with
reference (o (he poem ‘Bishop Hatto'.
Answer Lhe [ollowing gquestions in 80-100 words : (1x5=5)

Imagine you are Konrad. Wrile a diary entry (o express your experience and
feelings when the doctar advised you not to participate in the next round of the
equestrian event. What did you do after that?

OR

In the chapter, ‘The Case of Copied Question Papers’, what was the disturbing
incident that took place in Soames’ room? Who solved the mystery and how?

Answer the following question in 30-40 words : (1x3=3)
How did the Captain of the ship discover the floating box in which Gulliver
escaped?

. Answer the following question in 80-100 words : (1x5=5)

What were the different tricks performed by Gulliver for the spectators? Why did
he get tired at end?

OR
How did Gulliver read the huge books in the King's library?



ANNUAL EXAMINATION 2/2018
CLASS : VI
SUBJECT : SCIENCE

Time : 3 hours MM : 80

General Instructions :

(i) All quesiions are compulsory.

(i} Mention correct question number and part for each
answer.

(iii} Attempt the questions in the same sequence as
given in question pdper.

PART-A

Q1. Answer the following in one word or one sentence each:

(a)
(b)

(c)

(d)
(e)

(15x1=15)
‘X' is a deficiency disease caused due to lack of
indine in our diet. Identify X"
Deline almosphere.
Tripti comes across an animal having a
streamlined body wilh scales. What is the habitat
of this animal?
Give two examples of luminous objects.
Mention two components of food that do not
provide nulrients bul are essential for our body.
Radhika bought some vegelables such as french
beans, lady finger, green chillics, brinjals and
potatoes all mixed in a bad. Which method should
she use to separate them?
Differentiate between bone and cartilage.
A magnet has maximum strength near its ends.

What are these points having maximum strength
called as?



Q2.

Q3.

(i)  Name a shape which wauld give a circular shadow

il held in one way and a rectangular she jow if
) : % th

held in another way.

(). Weshould not breathe through our mouth. Justify.

(k) An earthworm has tiny hair like structures
projecting oul under its body which help it fo
gel a grip on the ground. What are these structures
called?

(Il Which method of separation is used to ebtain |
salt {rom sea water?

(m) How should a horse shoe shaped magnet be
stored?

(n) Name the major component of air which doesn't
support burning.

(6) In a completely dark room, if we hold a mirror
in front of us, will we see a reflection of oursell
in the mirror? Explain.

Fill in the blanks : (5x1=5)

(a) Scarcity of rainfall cauises ;

(b) The habitat of plants and animals that live on
land is called habitat.

(¢) Like poles of a magnet each other.

(d) The method of separating grains [rom stalks is
called

(¢) Joint at which bones are joined together such
that it does notf allow any movement is called

Give a lechnical term for the following : [Bx1-5]

(a) A diet which contains all the nutrients in right
proportion.

(b] A framework formed by all the bones in our body
to pive a shape to our hody.

(2)



Q4.

(c)

A solulion in which no more soliife can be
dissolved in a solvent at a parlicular temperature.

(d) The surroundings where plants and animals live.
(e) An instrument with a magnetized needle used
for finding direction. ‘ :

" PART-B
Answer briefly : (10x2=20])
(a) Define respiration. lHow do the following animals

(g -

breathe?

(i) Earthworm (ii) Fish

A farmer wants to separate husk [rom grains.

Which method of separation should he use? Define

iL.

Boojho has difficulty in seeing things in dim light.

The doclor tested his eyesight and prescribed a

particular vitamin supplement. He also advised

him to include a few [vod items in his diet.

(i) '~ Which deficiency disease is he sullering
from? ;

(i) Which vitamin would be lacking in his diet?

(iii) Suggesl any two ilems that he should
include in his diet.

Differentiate between magnetic and non-magnetic

materials. Give examples.

Define deficiency diseases. What are the symptoms - -+

shown by a child whose diet is deficient in both
carbohydrates and proteins [or a long period of
time?

Wrile any two adaptations which help a camel
ta live in deserts.

‘A’ is a tall, cone shaped tree with sloping
branches. It has small, needle like leaves.

’ (3)



(j)

(i) What is the habitat of ‘A :

(i) What is the advantage of having sl(;‘ping‘
branches for tree ‘A’

(i) Cve two cxamples of animals found in
habitat ‘A"

Identify the figure given below and write its any

two uses.

Write any two fealures of the imade obtained
through a pinhole camera. State the principle
on which a pinhole camera works.

Mohit and Rohit went to the zoo on a day’s lour.
Rohit was fascinated by the three lions in their
enclosure while Mohit started making noises and
hurtling stones at them thus, irritating them.
Rohil strongly ohjected to this behaviour.

() What is the natural habitat of a lion?

(i) Which value is shown by Rohit?

Q5. Answer the following : : (6x3=15)

(a)

=

Observe the given
picture carefully:

A patch of light is
ohtained at B, when
the torch is lighted as
shoWwn.

(4)

!
N —




__._)f_,__)—g——;_,

(ij Whatis kept at position Atoge

of light?

{ this patch

(i) What is this phenomenon called? Define

it.

(b) Rahul was making a temporary magnet using

an iron nailand a barmagnet. Whal precaulions

chould he keep in his mind while making a

magnet?

(¢) Define stimuli. Give iwo examples of responses

of animals to stimuli.

@ G Identify the gtructure shown in ihe helow

diagram given below.
(i) label'a and b’
(iif) Which two imporiant organs are pmtected
by this structure?

g [iﬁ::,)

Ch)

(e) Whatis theneed Lo do separation of substances?

Give three reasons.
Q6. Draw neat and well-labelled diagrams of:
(1) Sedimentation and Decantation
(i) Pinhole camera

(iii) Composition of air

()

(4+3+3=10)



1 7. Answer the following questions : (6x2=10)

(a)

Study the diagran given helow and ans._ T the

question thal follow ;

(b)

(i)
(i)
(i)

(i)

Name and define the process represented
in the above diagrain.

Lahel the processes A, B, Cand D.

How is the process ‘C useful?

During rainy season Sneha observed that

some living organisms called farmer’s friend

were coming out of the soil.

(1) Name the living organisms that werc
coming out of the soil.

(2) Why do they come out [rom the soil
during rainy season?

(3) How can you prove that soil conlains
air?

How are plants and animals interdependent

on each other?

(6)



ANNUAL EXAMINATION 2/2018

e CLASS : VI

SURBJECT : FRENCH

Time : 3 hrs MM : 80
General Instructions

()
(ii)
(iii)
(iv)

Al

Read all the questions carefully.
Number the answers as given in the guestion paper.
Write in a neat and clear handwriting.
Write the answers in complete sentences.

SECTION-A [COMPREHENSION ECRITE]
Lisez et repondez :

Mes amis de différentes nationalités

Voil le premier jour de I'école! Les éléves de I'école sont
heureux.
Voila la petite Caroline dans le cours. Elle est anglaise.
Elle a 11 ans. Caroline est jolie.

Marlha est japonaise ct elle a 12 ans. Elle est grande.
Elle joue avec Caroline.

Elles aiment la France.

Jean - Plerre est francais. I1 a 11 ans. Il habite & Nice. 1
est sympathicue. Tl donne les bonhons a Caroline et Martha.
Ils parlent anglais et francais. 1ls sonf des amis.

Al.1 Dites vrai ou faux. (3x1=3)
{a) Les ¢léves sont heureux.
(b) Martha et Caroline n‘aiment pas la France
() Cest le premier jour de I'école.
Al.2 Choisissez la bonne réponse. (3x1=3)
(a) Caroline est:
(1) laide (i) petite
(ii) jolie
(b) Ils parlent :
() anglais (i) hindi
(iii) chinois

(1)



(e} Jean-Pierre donne les a Caroline et

Martha.
(] fruits (ii) bonbons

=

[iii) places

Al.3 Trouvez duns le texie : (2x1=2]
(a)  Deux verbes en ‘er’:

(b)  Deux naiionalités

Lisez :
Voild Olivia!

Elle sappelle Olivia. Elle est petite et mince. Elle est
ctudiante. Elle esi francaise. Elle habite 3 Lyon en France.
Elle parle anglais, francais et un peu d'espagnol. Elle aime
danser et nager. Elle aime la couleur rouge. Elle aime
manger le fromage el les fruits. Elle déieste les
mathématiques et la tomate. Elle a un chien et un chat.
Le chien est blanc et le chat est noir. IIs sont jolis.

A2.1 Dites vrai ou faux. (Sx1=3)
(a)  Olivia a detix chats.
(h)  Olivia es{ professeur.
{c) Lechates(blanc.

AZ.Z Choisissez la bonne réponse. (3x1=3)
(a)  Olivia habite a :
(i)  Paris (i) Lille

{ili) Lyon

(b]  Elle déteste -
(i) latomate (ii) les fruiis
(iii) la viande

()  Elle aime la couleur :

(i) rose (i) rouge
(i) bleue
A2.3 Donnez le contraire du texte. (2xY5=1)

(a) déteste #
(b) %orosse =



SECTION-B [EXPRESSION ECRITE]
Bl. Nommez et dessinez cing vétements pour les femmes. (5)

B2. Décrivez votre maison. (5)

B3. Nommez et dessinez cing choses gu'on trouve dans la
cuisine. ‘ (5)

B4. Regardez les images et répondez. {3+2=h)
(a) == : '

) Nommez {rois choses que vous voyez.

(b)
(i) Qu'esi-ce que c'est?
{ifl Qu'esi-ce qu'il y a ici?
SECTION-C [GRAMMAIRE]
Cl. Choisissez et écrivez 1a honne réponse. (10x1%=5)

(a) Clest table. (un. des, unc)
(b) Lechatest la chaise. (dans, sous, contre)

(3]




C2.

C3.

C4.
C5.

Ce.

(c) Nous ecrivons dans cahier. (notre, nos,

volirc)

(d) Elle parle 2 mére. (son. ses, 5a)

(e) Elle mange _ pomme. (de la, du, de 1)

(0 Ils ne boivent pas lait. (de, de 1a, des)

(£) Ilyaunecartede laFrance  lemur (sur,
contre, sous)

(h) C'estle chapeau _ grand-pere. (de 1, des,
du)

[{) - Jtaime e fruits. (les, la. 1)

(j) Vous portez chapeau. (votre, VoS, mon)

Conjuguez les verbes au présent. (5x1=5)

(a) Nous (voyager) ce matin.

(o) I __ (finir) le devoir.

(¢) Elles (danser) bien.

(d) dJe (dire) bonjour au professeur.

(e} Vous _ (vouiloir) du the?

Mettez au négatif. (3x1=3)

(a) Elle mange de la viande.
(b) Nous détestons les légumes.
(c) s regardent le film 4 la télévision.

Conjupuez le verbe ‘sortir’ (a Iaffirmatif) {3)
Ferivez en nombres ordinaux. ([6x¥4=3)
()~ BPcEEEe (b) 205= S .

@ 8= T i O

(@ T T S

Transformez les questions en utilisant, <<Esi-ce que...?>>
ou <<Est-ce qu’...?>>. (3x1=3)

(@ Nous allons au marché?
(b) Ils regardent la tele?
(c) Sophie est anglaise?

4




C8.

C9.

C10.

DI1.

D2.

Trouvez la question. (2x1=2)

La) Clest mon amie.
(b) 1l a douze ans.

Retrouvez les phrases. (2x1=2)

(a) géleaux/Elle/les/adore
(b) n'/allons/a/Nous/école/I'/pas

Corrigez la faute. (2x1=2)

(@ Jevoit un chat.
(h)  Elle lit sa journaux.

Chassez l'intrus. (2x1=2)

(a) lecafe, le beurre, le thé, le lait
(h)  le déjeuner, le gouter, la viande, le diner.
SECTION-D [LA CULTURE ET LA CIVILISATION]

Dites vrai ou faux. (6x1=5)

(a) Il faut respecter nos instituteurs.

(h) Manuel habile avec ses parenis.

(¢) Il ne faut pas arriver 4 I'heurc pour l'école.
(d) Mme Lavigne met du jus de fruits dans Ie frigo.

(&) Lesvéiements de femme et de lille sont au troisieme

étage.

Choisissez et éerivez 1a bonne réponse. (10x'2=h)

(a) Manuel adore le cours de :
(i) francais (i) musigue
(iif) dessin

(b) Catherine va dans un grand magasin avec .
(ij sonpére (il sonamie
(iii) sa mére

(c) Amneesh détestele: .
(i) coca (i) jus de fruits
(iii) lait

(d) Manuel aime :

()  samaison (i)  sonappartement

(iii) sacuilsine

(5




D3.

(e) Les amis de Manuel viennént a la maison pour le:
(1) gouter (i) diner 3
(iif) déjeuner

()  Catherine préfére la couleur:
(i  rouge (ii) rose
(iii) verte

(g) Lecole de Manuel est:
(i) grande (ii) assez grande
(iii) petite

(h) La chambre de Manuel esl asscz grande avec
oo sis
(i) trois (i) deux
(iii) cuatre

()  Mme Lavigne fait:

()  unsandwich (i) ungateau
“(iii) une tartine
(). Catherine est _de sa jupe.
(i) lriste {ii) coniente
(iii) mécontente
Reliez : (10xle=5)
(a) sur i) lemeuble
(b)  boire (i) lelégume
(¢) lediner (iii) le repas
(d) larobe (iv) l'adjectif possessit
(e) neuvieme {v) lapréposition
(f la table . (vi) leverbe
(5) latomate (vii) levétement
(hy leur (viii) la maison
(i) des (ix) le nombre ordinal
(i) lesalon (x) larticle partifif

(8)
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ANNUAL EXAMINATION 3/2018
CLASS : VI

SUBJECT : MATHEMATICS
Time : 3 hrs MM : 80
General Instructions !
(i) All questions are compulsory.
{ii) Read all questions very carefully.
(iii) Questions 1 to 10 carry 1 mark each.
({iv) Questions 11 to 18 carry 2 marks each.
(v) Questions 19 to 28 carry 3 mdrks each.
{vi) Questions 29 to 34 carry 4 marks each.
Q1. Write as decimals : One hundred and seven tenths
Q2. Write the successor of (-9).

(3. Find the perimeter of an equilateral triangle with
side 15em.

Q4. Give expression for : ‘8 subtracted from (-p)’
@5. Write as a fraction : 2.3

Q6. Draw a circle of radius 4 cm.

Q7. Find the ratio of 880 to 630

Q8. Find the rule which gives the number of matchsticks
required to make a pattern of letter & /

, 11
(Y. Express as a mixed [raclion : =

! Q10.In a pictograph, if 1 @ represents 15 books, then
' how many hooks.are represenied by 10 @7

Q11. Find the sum of (-14), (80) and (14).

(1)



' 12 i
Q12. Write . asadecimal
Q13. Find the length of the rectangle whose perimeter is

100cm and breadth is 10em.
14.{a) Take Renu's age to be ‘x years. What is Renu's
father's age if he is 3 years more than 4 times
Renu's age,

(b)  Siate whether the following is an equation (with
4
a variable] or not : =T 2

@15. The graph below shows the sale of pens in a stationery
shop from Monday to Sunday. Answer the following
questions based on the graph :

(a) On ﬂ.rhich two days was the sale of pens same?

(b) (i) On which day was the sale of pens
maximum?

(i) How many pens were sold on Thursday?
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g16.

Q17.

QIS.

Q19.

Q24.

Ram had ¥ 14.60. He bought vegetables for ¥ 8.45.
_nd the balance amount left with R,

Draw a line segmenl of length 6cm and construct
ils perpendicular bisector.

g

6
Fill in the blanks : g = ,:’3) = l:]

Seema wants to cover the floor of a room 4m wide
and 5m long by squared tiles. If each square tile is
of side 0.5m, then find the number of tiles required

to cover the floor of the room.

. Use number line and add : (-2) + (-4) + 5
. Divide ¥ 80 in the ratio 1:3 between Mary and Johu.

2. Pooja, Palak and Mehak are climbing the steps to

the hill (op. Mehak is at slep 'p’, Pooja is 10 sleps

ahead of Mehak and Palak is 5 steps behind Mehak.

(a) Where arc Poaja and Palak?

(b)  If the total number of steps are 10 less than 4
fimes what Mehak has reached. Express the

total number of steps using p.

.(a) If the cost of a dozen bananas is T 84. Find the

cost of 30 bananas.

(h)  Give one equivalent ratio of 8:7.

Given AB of length 8.4cm and CD of length 4.5¢m.

Construct a line segment XY such that the length

of XY is equal to the difference between the lengths
of AB and cD.

(3)



L% @25, Fill in the blanks with », < of = sigh

() GamaClP)E e 1 (L68) + (-8) -
b) (=20 - (-42) (42) - (-20)

Q26. In a class A of 40 students, 20 students passed in
[irst class, In another class B of 48 students, 16
<tudents passed in first class. In which class was a
greater fraction of students gelling first class?

Q27. The lawn in front of Molly’s house 1 12m % 8m,
whereas the lawn In front of Dolly's house is
15m x 5m. A wamboo fencing is budli around hoth

~ the lawns. Whose lawn require more fencing?

Q28.The number of students studying in each of the four

clusses of a secondary school are given below :

Number of studenls ““
Draw a pictograph to represent the
1 ® = 10 students.

29. Pick out ihe solution from the values given in the
bracket next to the given equation. Also show that

siven data. Take

the other values do oot satisfy the equation.
pt9=7 (2452, -4

Q30. Constructan angle of 457 with ruler and compasses.
Also wrile steps of consfruction.

Q31 (2) Whatis the cost of white washing a rectangular
wall of length 200cm and breadth 100cm at
the rate of ¥ B per hundred sq. cm?

(h) The perimeier of a regular hexagon is 60cm.
How long is its each side?
= (4



©32.(a) The given table shows the [avourile oputdoor

games of some siudents of a schaol.

ﬁmdoﬁr gaImes "Badminiml Foothall | Cricket | Kho-Kho
‘\leiib&l‘ of studem'_-',r 350 250 500 400

Draw a bar graph (o represent the above
information choosing the scale of your choice.
(b) Give one benefit of playing outdoor games.

Q33. In a school. out of 1220 siudents, 300 are girls. Find

the ratio of
(a) Numberof girls to the 1otal number of students.
() Number of boys to the number of girls.

(¢) Numberof boys o the total number of students.
- : e~ o
Q34.(a) Rohan wus given 1 5 plece ol pizza and Mohan

15 : ,
was diven 1§ piece ol pizza. rind the total

amount of pizza given to both of them.

. T
(b) Simplify: 873

(o))

(5)
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